THE BIDDER WILL SATISFACTORILY COMPLETE THE WORK ON THIS CONTRACT FOR THE FOLLOWING PRICE(S):

ITEM	DESCRIPTION	UNIT PRICE	TOTAL PRICE BASED ON ESTIMATED QUANTITIES
1.	Maintenance and P	Protection of Traffic	
	1 Lump Sum	\$ <u>8,526.93</u> /LS Figures	\$ <u>8,526.93</u> Figures
WRITE	E UNIT PRICE BID:_	Eight thousand five hundred twenty six	
		ninety three cents	PER LUMP SUM
2.	Traffic Director, Mu	nicipal Police Allowance	
	1 Allowance	\$ <u>5,000.00</u> /AL Figures	\$5,000.00 Figures
WRITE	UNIT PRICE BID:	Five Thousand Dollars and Zero Cents	rigures
		TWO THOUSAINS BOILD WITH ZETO OCHES	PER ALLOWANCE
3.	Fuel Price Adjustme	ent	
	1 Allowance	\$ <u>4,900.00</u> /AL Figures	\$4,900.00 Figures
WRITE	UNIT PRICE BID:_	Four Thousand Nine Hundred Dollars and Ze	ero Cents
) <del> </del>			PER ALLOWANCE
4.	Asphalt Price Adjus	tment	
	1 Allowance	\$ <u>7,500.00</u> /AL Figures	\$7,500.00 Figures
WRITE	UNIT PRICE BID:	Seven Thousand Five Hundred Dollars and Zero (	Cents
			PER ALLOWANCE
5.	Clearing Site (Maxii	mum Bid of \$15,000.00)	
	1 Lump Sum	\$ <u>15,000.00</u> /LS Figures	\$_15,000.00 Figures
WRITE	UNIT PRICE BID: 1	Fifteen thousand dollars & zero cents	
\			PER LUMP SUM

SUBTOTAL FORWARD (\$ 40,926.93

THE BIDDER WILL SATISFACTORILY COMPLETE THE WORK ON THIS CONTRACT FOR THE FOLLOWING PRICE(S):

ITEM	DESCRIPTION	UNIT PRICE	TOTAL PRICE BASED ON ESTIMATED QUANTITIES
6.	Remove and Replace Roadway	Base (If and Where Ordered)	
	200 Square Yards	\$/SY/SY	\$ <u>2.00</u> Figures
WRITE	UNIT PRICE BID: Zero dol1	ars & one cent	
			PER SQUARE YARD
7.	Hot Mix Asphalt Milling, 3" or Les	s	
	21,230 Square Yards	\$ <u>2.50</u> /SY	\$ 53,075.00
MOITE	LINUX DDIOC DID	Figures	Figures
WRITE	UNIT PRICE BID: Two dollar	rs & fifty cents	
			PER SQUARE YARD
8.	Hot Mix Asphalt 9.5M64 Surface	Course, 2" Thick	
	2,550 Tons	\$_90.00/TN Figures	\$ 229,500.00 Figures
WRITE	UNIT PRICE BID: Ninety dol	llars & zero cents	
			PER TON
9.	Reconstruct Inlet, Type A, Using	New Casting	
	15 Units	\$ <u>800.00</u> /UN	\$_12,000.00
		Figures	Figures
WRITE	UNIT PRICE BID: Eight hund	dred dollars & zero cents	
			PER UNIT
10.	Reconstruct Inlet, Type B, Using	New Casting	
	10 Units	\$ <u>1,000.00</u> /UN	\$_10,000.00
MOITE	LIMIT DRICE DID. One thouse	Figures	Figures
VVKITE	UNIT PRICE BID: One thousa	nd dorrars & zero cents	
			PER UNIT

THE BIDDER WILL SATISFACTORILY COMPLETE THE WORK ON THIS CONTRACT FOR THE FOLLOWING PRICE(S):

ITEM	DESCRIPTION	UNIT PRICE	TOTAL PRICE BASED ON ESTIMATED QUANTITIES
11.	Convert Existing Yard In	nlet Structure to Type A Inlet	
	1 Unit	\$ <u>3,500.00</u> /UN Figures	\$_3,500.00 Figures
WRITE	UNIT PRICE BID: Thr	ee thousand five hundred dollars	
			PER UNIT
12.	Concrete Driveway, Rei	nforced, 6" Thick (Include Bedding) (If and Wi	nere Ordered)
	30 Square Yards	\$ <u>120.00</u> /SY	\$_3,600.00
		Figures	Figures
WRITE	UNIT PRICE BID: One	hundred twenty dollars & zero co	ents
			PER SQUARE YARD
13.	Reset Pavers (if and wh	ere ordered)	
	100 Square Feet	\$ <u>15.00</u> /SF Figures	\$ 1,500.00 Figures
WRITE	UNIT PRICE BID: Fif	teen dollars & zero cents	
			PER SQUARE FOOT
14.	Aggregate Driveway, 6"	Thick (if and where ordered)	
	100 Square Yards	\$ 10.00 /SY	\$ 1,000.00
		Figures	Figures
WRITE	UNIT PRICE BID: Ten	dollars & zero cents	
		14 1 1 2 2 1 3 1 1 1 1 1 1 1 1 1 1 1 1 1 1	PER SQUARE YARD
15.	8" x 18" Concrete Vertica	al Curb	
	100 Linear Feet	\$ <u>40.00</u> /LF	\$_4,000.00
WRITE	LINIT PRICE RID. Ford	Figures ty dollars & zero cents	Figures
VVIXITE	OMIT I MOL BID. FOL	ty dorrars & Zero Cents	
			PER LINEAR FOOT

THE BIDDER WILL SATISFACTORILY COMPLETE THE WORK ON THIS CONTRACT FOR THE FOLLOWING  $\mathsf{PRICE}(S)$  :

ITEM	DESCRIPTION	UNIT PRICE	TOTAL PRICE BASED ON ESTIMATED QUANTITIES
16.	Traffic Striping, Long-Life, Epoxy F	Resin, 4" Wide	
	200 Linear Feet	\$_3.50/LF Figures	\$ 700.00 Figures
WRITE	UNIT PRICE BID: Three dolla	ars & fifty cents	
			PER LINEAR FOOT
17.	Traffic Markings, Thermoplastic		
	50 Square Feet	\$ <u>11.00</u> /SF Figures	\$ <u>550.00</u> Figures
WRITE	UNIT PRICE BID: Eleven doll	ars & zero cents	
			PER SQUARE FOOT
18.	Regulatory or Warning Signs (If an	d Where Ordered)	
	10 Square Feet	\$ <u>45.00</u> /SF Figures	\$_450.00 Figures
WRITE	UNIT PRICE BID: Forty five	dollars & zero cents	
			PER SQUARE FOOT
19.	Reset Water/Gas Valve, Box or Me	oter	
	20 Units	\$ <u>0.01</u> /UN	\$_0.20
		Figures	Figures
WRITE	UNIT PRICE BID: Zero dollar	s & one cent	
-			PER UNIT
20.	Reset Manhole, Sanitary Sewer, U	sing Existing Casting	
	30 Units	\$_150.00 /UN Figures	\$_4,500.00
WRITE	LINIT PRICE RID: One hundred	fifty dollars & zero cents	Figures
VVIXITE	ONIT PRIOR BID. OHE HUHATEA	TITLY COLLARS & Zero cents	DED LAUT
TATE			PER UNIT

THE BIDDER WILL SATISFACTORILY COMPLETE THE WORK ON THIS CONTRACT FOR THE FOLLOWING PRICE(S):

ITEM	DESCRIPTION	UNIT PRICE	TOTAL PRICE BASED ON ESTIMATED QUANTITIES
21.	Topsoiling, 4" Thick, Including	g fine grading (if and where ordered)	
	300 Square Yards	\$ <u>0.01</u> /SY Figures	\$_3.00 Figures
WRITE	UNIT PRICE BID: Zero do	llars & one cent	
	是在中国的		PER SQUARE YARD
22.	Fertilizing and Seeding, Type	A-3 (if and where ordered)	
	300 Square Yards	\$_0.01/SY Figures	\$_3.00 Figures
WRITE	UNIT PRICE BID: Zero do	llars & one cent	
			PER SQUARE YARD
23.	Straw Mulching (if and where	e ordered)	
	300 Square Yards	\$_0.01/SY Figures	\$_3.00 Figures
WRITE	E UNIT PRICE BID: Zero do	llars & one cent	
			PER SQUARE YARD
24.	Allowance for Work Not Spe	cified	
	1 Allowance	\$ <u>10,000</u> /AL Figures	\$ <u>10,000.00</u> Figures
WRITE	UNIT PRICE BID: Ten	Thousand Dollars and Zero Cents	
			PER ALLOWANCE

Total of Prices Bid based upon Estimated Quantities for above listed Items 1 through 24 inclusive.		
\$375,313.13 Dollars.		
(Amount – Figures)		
Three hundred seventy five thousand three hundred thirteen dollars & thirteen cents (Amount - Written)		
TIME FOR COMPLETION of this Contract is <u>60</u> calendar days.		
Quantities are not guaranteed. Final payment will be based on actual quantities.		
C 5. BIDDER agrees that the Work will be substantially complete within <u>45</u> calendar days after the date when the Contract Time commences to run as provided in paragraph 2.3 of the General Conditions, and completed and ready for final payment within <u>60</u> calendar days after the date when the Contract Time commences to run.		
BIDDER accepts the provisions of the Agreement as to liquidated damages in the event of failure to complete the Work on time.		
C 6. Communications concerning this Bid shall be addressed to:		
The address of BIDDER indicated below:		
BIDDER NAMEEarle Asphalt Company		
MAILING ADDRESS P.O. Box 556, Farmingdale, NJ 07727		
C 7. The terms used in this Bid which are defined in the General Conditions of the Construction Contract include as part of the Contract Documents have the meanings assigned to them in the General Conditions.		
SUBMITTED on February 08 , 2023 .		
Contact Information		
Project Manager: Antonio Buchel, PE		
Business Address: P.O. Box 556, Farmingdale, NJ 07727		
Phone Number:(732) 308-1113 Fax Number:(732) 308-1034		
Mobile Phone: (908) 907-0391 Email Address: abuchel@earleco.com/bcooper@earleco.com		